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Thermodynamic properties of superconducting CuBa2Ca3Cu4O10+δ 
(Cu1234) system 
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CuBa2Ca3Cu4O10+δ revealed:  
 high µ0Hc2 of about 91 T at 77 K and µ0Hirr at 77 K as high as 21 T; 
 intergranular critical current density is lower by 4 orders of magnitude with regard to intragranular; 
 ξ(0) calculated with Ginzburg – Landau relations equals to 1.33 nm            potentially high pinning 

abilities of point defects. λ(0) and related µ0Hc1 approximately equal to 102 nm and 102 mT respectively. 
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